Zakwan, Unayz, Zacky, Hakima, Iqra, Mahdiya, Inayah G
Hexagons Maths Challenge- WB June 15th 
These are optional challenges for you to try. I will email the answers to your parents later on in the week. Good luck! 
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Challenge 3

Two numbers, A and B, are marked on the number lines.

A
200 300 40O I 500

A
]
20 30

l

Find the sum of A and B.
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Challenge 4

Max buys a shirt and a jacket.

The jacket costs £25 more than the shirt,
The total cost of the shirt and jacket is £87.

How much does each item cost?
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Challenge 5

The mass of 1 cube and 4 cones s 110 .
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The mass of 1 cube and 2 cones s 72 g.
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Whatis the mass of 1 cube?
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Challenge 6

Aplank of wood is 4.6 metres long.
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These three lengths of wood are cut from the plank.

4SS m

88 cm

1630 mm

‘What s the length of the wood left?





